90Vac...264Vac Input

H1
™8 O
Do P9 SK 57384 SA
S3J-E3/57T
D10
AC-1
IDH03G65C5
L
= L3 L2 — 17W ha
1mH 7mH
0 0 > +390V >
f\-/ J_ 498uH ©
D11 R37
~ ® c7 o« ® fggo F 6.7W @ 90VAC MBRO540TLG 2.21M
1000pF P caa c45
RVL c2  Leanr c36 heAn * 2200F = 220uF
275VAC =—0.47uF =—0.47uF Ly R3S v v
e e penilp ol * { | o 450V a50v ?3281 "
EARTH 1PP6OR180P7 L{ 221 i
EARTH R34
- < - < csa aw
c38 P 10.0k = =
1000pF P R32 PGND PGND R39
2.21M
0.03
R31
2231 us R40
UCC28180DR 2.21M
[vec Primay 7 _{fvee caTe £
2 2 icomp VSENSE {2 2
3 5 R36 <
ISENSE VCOMP
22.6k R4
2o FREQ GND L cas 115k
ca3 Ca6 47
ca9 0 —ca ?733&( 0.33uF 33UF | 47uF 52"':
0.1uF 2700pF 820pF Fsw=120KHz
PGND PGND PGND PGND PGND  PGND PGND  PGND  PGND

Texas Instruments and/or its licensors do not warrant the accuracy or

of this

contained therein. Texas Instruments and/or its licensors do not

Orderable: EVM orderable

Designed for: Public Release [Mod. Date: 2/5/2019

TID #:

Project Title: 90VAC-264VAC 310W LLC

jumber: PMP30521 [Rev._B

Sheet Title: PFC Stage

any
warrant that this design will meet the specifications, vill be suitable for your application or fitfor any pertioular purpose of wil operate in an implementation. Texas Instruments andor its

licensors do not warrant that the design is

2 3

worthy. You should completely validate and test your design i

to confirm the system for your

SVN Rev. _Version control disabled

Drawn By: R. Scibilia
Engineer: R. Scibilia

Assembly Variant: [No Variations] Shes of 3
File: PMP30521 Rev_B PFC Schematic. SchDoc Size: B

Q; TexAs
INSTRUMENTS
hitp://www.ti.com

Contact:_http:

4

©Teas Instuments 2019




c21
TP2 TP5 H2
® 47000F SK 573 37.5 SA
+390V. 3
=T Te 1o e T
0. D47uF o 047uF o D47uF 0.047uF
C15 PGND |
630V 630V 630V 630V 0.0220F H 6 O
= = Ho)>— % "_}Ql no ' ™7
PGND PGND PGND PGND 221 L= ér;lzssmzocm G184051LF ps W
1 5 1 SGND
R10 9@ -55v 32
10.0k Short TP3, TP4. & 6 2 ol +
P1 s P4 ¢ * 56V @3.75A
16 7 3
s | 2 = +C25 +c28 032 c34 341\90
2| TSTI0H20( -470uF 470uF 2.20F ==0.1uF
R % 1 TSTL0H200CW 80V a0V 100v | 100v
q
e 12 15 % 10
_| IPB65R420CFD =—c16 SG:;ND o7
R11 0.84W 0.022uF 8 |ne e -2 SGND SGND SGND  SGND SGND  SGND
10,01 3 ’ I:
L1 0LLLLY 19v
575uH | 222222 : 2 2 +
= = = FERR = ' T - _L 1 * 19v @5.26A
PGND  PGND PGND aliale PGND | L +C26 +C29 €33 c
1 1200uF 1200uF 10uF
D4 ! TST20L100CW £SY 3V sov 0.1uF
{15V ] 32w
1
B1100-13-F 52222k | SGND SGND SGND  SGND SGND
3 1
S piol |
by R23 B1100-13-F 1
10.0k |
1
1
= = Us
= PGND TCMT1107
R26
- 4 1 oV
J_ J_ R20 o5 I .A/¥ wok |
D1 c10 c12 10.0k o3 2 car
4.70F 4.70F 6.2V . 1uf
AC-L © D3
R15 Ra3 R25
UFM15PL-TP L 1 o P 0 ! 226k SGND
= = - 1 R28
PGND PGND UCC256304DDBR ESLIAR = ' 715k
D2 = | :
R1 R3 R4 1 14 PGND |
AC2 HY HB \ c23
165k 165k  1.65k 1 c1 i D12 R |
UFMISPLTP g5y 3 |vee Hol8 2 (o ] T ooie | BAS40-04-7-F +cas prXs
_Lc3 2 [ s |16 o7 ! R42 100F 220007
Iz,zup H 226k | 35V i
6 10
ISNS Lo > !
: e = ! e ¢S e
PGND 2ol LUss FBla2 ~ ! DNP
620k | SGND
Bk et RI18 |
c2 1 @ R e i ua
VCR Lo GND 1L gzloapr R17 DNP. 1000pF | 5 LMV431AIMF R29
100pF 0.1uF DNP : 4.99%
630V 2
221 — L R1g PGND !
PGND | PGND DNP ! SG:;ND SG:;ND
—=c17 |
DNP |
1
R7 R12 R13 RL4 |
c1 390V !
: - 22IM  22IM  22IM  22IM |
1
100pF R16
630V ==c5 R5  ==C8 73,2k _ r”‘l Ssep i
DNp 001F 3294k 0.150F St 122v CveC Primary X 1
Vbulk ) R21 \
wiLo 47.5k |
= Stop: 106V Y 107
P60 e . Lo 2 2
ASSEMBLY NOTES: 3 J .4/* 10.0k |_21||_E| P;C Off =0, ON>3.3V
_ ND
Built on PMP30521 Rev_A PCB J_
= = ! SGND
Ref. Des. > 99 have been added on the board PGND PGND |
1
Disconnect pins 4 and 3 of U3 and route them twisted to pin 5 of Ul !
Disconnect Q4-R21 from "+15V" net and route it to C100 :
1 Orderable: EVM orderable Designed for: Public Release [Mod. Date: 2/5/2019
| TID #: ‘ Project Title: 90VAC-264VAC 310W LLC Q; TEXAS
jumber: PMP30521 Rev. B | Sheet Title: LLC Stage INSTRUMEN
Texas Instruments and/or its licensors do not warrant the accuracy or of this contained therein. Texas Instruments and/or its icensors do not SVN Rev. _Version control disabled | Assembly Variant._[No Variations| [Sheet 2 of 3 STRUMENTS
warrant that this design will meet the specifications, will be suitable for your application or fit for any pamcular purpose, or wil operate in an implementation. Texas Instruments andor its Drawn By: R. Scibilia File: PMP30521 Rev B LLC Schematic.5chDoc | Size: B hitp://wawti.com
licensors do not warrant that the design is worthy. You should completely validate and test your design i to confirm the system lity for your Engineer: R. Scibilia Contact: _http: ©Teas Instruments 2019

2

3

4




e w1 wiL1 WNL RS1
M3x10mm  0.53mm M3 Washer 0.81mm M3 Washer Lock  0.51mm M3 Nylon Washer THFU 1
sc2 RS2
w2 wL2
THFU 1 Insulator
M3xiomm  0.53mm M3 Washer 0.81mm M3 Washer Lock Rs3
Is
THFU1  Insulator

Fix D8, Q5 and D10 on H1 with 3 x RS1..3 + 3 x1S1...3
Fix H1 on PCB with SC1+W1+WL1 + WN1 on TP8 and SC2+W2+WL2 on TP9
Insert WN1 so that W1 does not touch the PCB

SC3 w3 wis RS4

THFU 1 Insulator
M3xiomm  0.53mm M3 Washer 0.81mm M3 Washer Lock

w4 wL4 RS5

M3xiomm  0.53mm M3 Washer 0.81mm M3 Washer Lock THFU 1

Fix D6 and D7 on H2 with RS4 and R65, with insulators 1S4 and 1S5
Fix H2 on PCB with SC3+W3+WL3 and SC4+W4+WL4

Orderab\e EVM_orderable Designed for: Public Release [Mod. Date: 2/5/2019
TID N/A Project Title: 90VAC-264VAC 310W LLC ” TEXAS
umber PMP30521 | Rev. B _|Sheet Tile: Hardware INSTRUMENTS
Texas Instruments and/or its licensors do not warrant the accuracy or of this or any contained therein. Texas Insiruments and/or its ficensors do not SVNRev. _Version control disabled | Assembly Variant_[No Variaions] [Sheet 3_of 3
warrant that this design will meet the specifications, will be suitable for your appiication or fit for any particular purpose, or wil operate in an implementation. Texas Instruments and/or its Drawn By: R Scibilia File: PMP30521 Rev_B Hardware.SchDoc [Size: B hitp://wawti.com
licensors do not warrant that the design is ion worthy. You should completely validate and test your design i to confirm the system for your Engineer: R. Scibilia Contact: http://ww.ti ©Teas nstuments 2010

2 3 4 5 6




IMPORTANT NOTICE AND DISCLAIMER

TI PROVIDES TECHNICAL AND RELIABILITY DATA (INCLUDING DATASHEETS), DESIGN RESOURCES (INCLUDING REFERENCE
DESIGNS), APPLICATION OR OTHER DESIGN ADVICE, WEB TOOLS, SAFETY INFORMATION, AND OTHER RESOURCES “AS IS”
AND WITH ALL FAULTS, AND DISCLAIMS ALL WARRANTIES, EXPRESS AND IMPLIED, INCLUDING WITHOUT LIMITATION ANY
IMPLIED WARRANTIES OF MERCHANTABILITY, FITNESS FOR A PARTICULAR PURPOSE OR NON-INFRINGEMENT OF THIRD
PARTY INTELLECTUAL PROPERTY RIGHTS.

These resources are intended for skilled developers designing with TI products. You are solely responsible for (1) selecting the appropriate
TI products for your application, (2) designing, validating and testing your application, and (3) ensuring your application meets applicable
standards, and any other safety, security, or other requirements. These resources are subject to change without notice. Tl grants you
permission to use these resources only for development of an application that uses the Tl products described in the resource. Other
reproduction and display of these resources is prohibited. No license is granted to any other Tl intellectual property right or to any third
party intellectual property right. Tl disclaims responsibility for, and you will fully indemnify Tl and its representatives against, any claims,
damages, costs, losses, and liabilities arising out of your use of these resources.

TI's products are provided subject to TI's Terms of Sale (www.ti.com/legal/termsofsale.html) or other applicable terms available either on
ti.com or provided in conjunction with such Tl products. TI's provision of these resources does not expand or otherwise alter TI's applicable
warranties or warranty disclaimers for TI products.

Mailing Address: Texas Instruments, Post Office Box 655303, Dallas, Texas 75265
Copyright © 2019, Texas Instruments Incorporated


http://www.ti.com/legal/termsofsale.html
http://www.ti.com

	Schematic Prints("All Documents",Logical)
	PMP30521 Rev_B Hardware.SchDoc
	Components
	IS1
	IS2
	IS3
	IS4
	IS5
	RS1
	RS2
	RS3
	RS4
	RS5
	SC1
	SC2
	SC3
	SC4
	W1
	W2
	W3
	W4
	WL1
	WL2
	WL3
	WL4
	WN1


	PMP30521 Rev_B PFC Schematic.SchDoc
	Components
	C22
	C22-1
	C22-2

	C36
	C36-1
	C36-2

	C37
	C37-1
	C37-2

	C38
	C38-1
	C38-2

	C39
	C39-1
	C39-2

	C40
	C40-1
	C40-2

	C41
	C41-1
	C41-2

	C42
	C42-1
	C42-2

	C43
	C43-1
	C43-2

	C44
	C44-1
	C44-2

	C45
	C45-1
	C45-2

	C46
	C46-1
	C46-2

	C47
	C47-1
	C47-2

	C48
	C48-1
	C48-2

	C50
	C50-1
	C50-2

	C53
	C53-1
	C53-2

	C54
	C54-1
	C54-2

	D8
	D8-1
	D8-2
	D8-3
	D8-4

	D9
	D9-1
	D9-2

	D10
	D10-1
	D10-2

	D11
	D11-1
	D11-2

	F1
	F1-1
	F1-2

	H1
	J4
	J4-1
	J4-2
	J4-3

	L2
	L2-1
	L2-2
	L2-3
	L2-4

	L3
	L3-1
	L3-2
	L3-3
	L3-4

	L4
	L4-1
	L4-2

	Q5
	Q5-1
	Q5-2
	Q5-3

	R31
	R31-1
	R31-2

	R32
	R32-1
	R32-2

	R33
	R33-1
	R33-2

	R34
	R34-1
	R34-2

	R35
	R35-1
	R35-2

	R36
	R36-1
	R36-2

	R37
	R37-1
	R37-2

	R38
	R38-1
	R38-2

	R39
	R39-1
	R39-2

	R40
	R40-1
	R40-2

	R41
	R41-1
	R41-2

	RT1
	RT1-1
	RT1-2

	RV1
	RV1-1
	RV1-2

	TP8
	TP8-1

	TP9
	TP9-1

	U5
	U5-1
	U5-2
	U5-3
	U5-4
	U5-5
	U5-6
	U5-7
	U5-8


	Nets
	+390V
	Pins
	C44-1
	C45-1
	R37-2
	RT1-2

	Ports
	+390V


	AC-1
	Pins
	C53-2
	D8-2
	L2-3

	Ports
	AC-1


	AC-2
	Pins
	C54-1
	D8-3
	L2-4

	Ports
	AC-2


	EARTH
	Pins
	C37-1
	C38-2
	C53-1
	C54-2
	J4-2


	NetC22_1
	Pins
	C22-1
	F1-1
	L3-2


	NetC22_2
	Pins
	C22-2
	J4-1
	L3-1
	RV1-1


	NetC36_1
	Pins
	C36-1
	C37-2
	L2-2
	L3-3


	NetC36_2
	Pins
	C36-2
	C38-1
	L2-1
	L3-4


	NetC40_2
	Pins
	C40-2
	U5-2


	NetC41_1
	Pins
	C41-1
	D8-1
	D9-2
	L4-1


	NetC41_2
	Pins
	C41-2
	D8-4
	R31-2
	R32-1


	NetC42_1
	Pins
	C42-1
	R31-1
	U5-3


	NetC43_2
	Pins
	C43-2
	R36-1
	U5-5


	NetC46_1
	Pins
	C46-1
	C47-1
	R36-2


	NetC48_2
	Pins
	C48-2
	R40-1
	R41-2
	U5-6


	NetC50_1
	Pins
	C50-1
	TP9-1


	NetD9_1
	Pins
	D9-1
	D10-1
	RT1-1


	NetD10_2
	Pins
	D10-2
	L4-2
	Q5-2


	NetD11_1
	Pins
	D11-1
	R35-2
	U5-8


	NetD11_2
	Pins
	D11-2
	Q5-1
	R34-2
	R35-1


	NetF1_2
	Pins
	F1-2
	J4-3
	RV1-2


	NetR33_2
	Pins
	R33-2
	U5-4


	NetR37_1
	Pins
	R37-1
	R38-2


	NetR38_1
	Pins
	R38-1
	R39-2


	NetR39_1
	Pins
	R39-1
	R40-2


	NetTP8_1
	Pins
	TP8-1


	PGND
	Pins
	C39-1
	C40-1
	C42-2
	C43-1
	C44-2
	C45-2
	C46-2
	C47-2
	C48-1
	C50-2
	Q5-3
	R32-2
	R33-1
	R34-1
	R41-1
	U5-1


	VCC_Primary
	Pins
	C39-2
	U5-7

	Ports
	VCC_Primary



	Ports
	+390V
	AC-1
	AC-2
	VCC_Primary


	PMP30521 Rev_B LLC Schematic.SchDoc
	Components
	C1
	C1-1
	C1-2

	C2
	C2-1
	C2-2

	C3
	C3-1
	C3-2

	C4
	C4-1
	C4-2

	C5
	C5-1
	C5-2

	C6
	C6-1
	C6-2

	C7
	C7-1
	C7-2

	C8
	C8-1
	C8-2

	C9
	C9-1
	C9-2

	C10
	C10-1
	C10-2

	C11
	C11-1
	C11-2

	C12
	C12-1
	C12-2

	C13
	C13-1
	C13-2

	C14
	C14-1
	C14-2

	C15
	C15-1
	C15-2

	C16
	C16-1
	C16-2

	C17
	C17-1
	C17-2

	C18
	C18-1
	C18-2

	C19
	C19-1
	C19-2

	C20
	C20-1
	C20-2

	C21
	C21-1
	C21-2

	C23
	C23-1
	C23-2

	C24
	C24-1
	C24-2

	C25
	C25-1
	C25-2

	C26
	C26-1
	C26-2

	C27
	C27-1
	C27-2

	C28
	C28-1
	C28-2

	C29
	C29-1
	C29-2

	C32
	C32-1
	C32-2

	C33
	C33-1
	C33-2

	C34
	C34-1
	C34-2

	C35
	C35-1
	C35-2

	C49
	C49-1
	C49-2

	C51
	C51-1
	C51-2

	C52
	C52-1
	C52-2

	C100
	C100-1
	C100-2

	D1
	D1-1
	D1-2

	D2
	D2-1
	D2-2

	D3
	D3-1
	D3-2

	D4
	D4-1
	D4-2

	D5
	D5-1
	D5-2

	D6
	D6-1
	D6-2
	D6-3

	D7
	D7-1
	D7-2
	D7-3

	D12
	D12-1
	D12-2
	D12-3

	D100
	D100-1
	D100-2

	D101
	D101-1
	D101-2

	D102
	D102-1
	D102-2

	H2
	J1
	J1-1
	J1-2

	J2
	J2-1
	J2-2

	J3
	J3-1
	J3-2

	L1
	L1-1
	L1-2
	L1-3
	L1-4
	L1-5
	L1-6
	L1-7
	L1-8
	L1-9
	L1-10
	L1-11
	L1-12

	Q1
	Q1-1
	Q1-3
	Q1-4

	Q2
	Q2-1
	Q2-3
	Q2-4

	Q3
	Q3-1
	Q3-2
	Q3-3

	Q4
	Q4-1
	Q4-2
	Q4-3

	R1
	R1-1
	R1-2

	R2
	R2-1
	R2-2

	R3
	R3-1
	R3-2

	R4
	R4-1
	R4-2

	R5
	R5-1
	R5-2

	R6
	R6-1
	R6-2

	R7
	R7-1
	R7-2

	R8
	R8-1
	R8-2

	R9
	R9-1
	R9-2

	R10
	R10-1
	R10-2

	R11
	R11-1
	R11-2

	R12
	R12-1
	R12-2

	R13
	R13-1
	R13-2

	R14
	R14-1
	R14-2

	R15
	R15-1
	R15-2

	R16
	R16-1
	R16-2

	R17
	R17-1
	R17-2

	R18
	R18-1
	R18-2

	R19
	R19-1
	R19-2

	R20
	R20-1
	R20-2

	R21
	R21-1
	R21-2

	R22
	R22-1
	R22-2

	R23
	R23-1
	R23-2

	R24
	R24-1
	R24-2

	R25
	R25-1
	R25-2

	R26
	R26-1
	R26-2

	R27
	R27-1
	R27-2

	R28
	R28-1
	R28-2

	R29
	R29-1
	R29-2

	R30
	R30-1
	R30-2

	R42
	R42-1
	R42-2

	R43
	R43-1
	R43-2

	T1
	T1-1
	T1-2
	T1-5
	T1-6
	T1-7
	T1-8
	T1-9
	T1-10
	T1-11
	T1-12
	T1-15
	T1-16

	TP1
	TP1-1

	TP2
	TP2-1

	TP3
	TP3-1

	TP4
	TP4-1

	TP5
	TP5-1

	TP6
	TP6-1

	TP7
	TP7-1

	U1
	U1-1
	U1-3
	U1-4
	U1-5
	U1-6
	U1-7
	U1-8
	U1-9
	U1-10
	U1-11
	U1-12
	U1-14
	U1-15
	U1-16

	U2
	U2-1
	U2-2
	U2-3
	U2-4

	U3
	U3-1
	U3-2
	U3-3
	U3-4

	U4
	U4-1
	U4-2
	U4-3


	Nets
	+15V
	Pins
	C3-2
	C19-1
	D4-1
	U1-3

	Ports
	+15V
	+15V
	+15V


	+390V
	Pins
	C6-1
	C9-1
	C15-2
	C51-1
	C52-1
	Q1-4
	R7-2
	TP2-1

	Ports
	+390V
	+390V


	19V
	Pins
	C26-1
	C27-2
	C29-1
	C33-1
	C35-2
	D7-2
	D12-2
	J3-2
	R26-1
	R28-2
	R42-1

	Ports
	19V
	19V
	19V


	56V
	Pins
	C25-1
	C28-1
	C32-1
	C34-1
	D6-2
	D100-1
	J2-1
	R30-1

	Ports
	56V
	56V


	AC-1
	Pins
	D1-2

	Ports
	AC-1


	AC-2
	Pins
	D2-2

	Ports
	AC-2


	BW
	Pins
	C11-1
	R22-1
	R23-1
	U1-8

	Ports
	BW
	BW


	HO
	Pins
	R8-1
	U1-15

	Ports
	HO
	HO


	HS
	Pins
	C14-1
	Q1-3
	Q2-4
	R10-1
	T1-1
	U1-16

	Ports
	HS
	HS


	LO
	Pins
	R9-1
	R17-2
	U1-10

	Ports
	LO
	LO


	NetC1_1
	Pins
	C1-1
	C4-1
	C5-1
	U1-7


	NetC2_1
	Pins
	C2-1
	R2-2
	U1-6


	NetC7_2
	Pins
	C7-2
	C10-2
	C12-2
	R6-1
	R15-2
	R20-2
	U1-12


	NetC8_2
	Pins
	C8-2
	R5-2
	R6-2
	U1-9


	NetC13_1
	Pins
	C13-1
	R14-1
	R16-2
	U1-4


	NetC14_2
	Pins
	C14-2
	D3-1
	U1-14


	NetC17_1
	Pins
	C17-1
	Q3-1
	R17-1


	NetC20_2
	Pins
	C20-2
	D5-2
	R18-2
	U1-5
	U3-4


	NetC23_1
	Pins
	C23-1
	C24-1
	D12-1
	R25-1
	U3-2
	U4-2


	NetC23_2
	Pins
	C23-2
	R27-2


	NetC24_2
	Pins
	C24-2
	R27-1
	R28-1
	R29-2
	R30-2
	U4-1


	NetC49_1
	Pins
	C49-1
	D12-3
	R42-2


	NetC100_1
	Pins
	C100-1
	D101-1
	D102-1
	Q4-2
	R21-2


	NetD1_1
	Pins
	D1-1
	D2-1
	R1-1


	NetD3_2
	Pins
	D3-2
	R15-1


	NetD4_2
	Pins
	D4-2
	D101-2
	R22-2
	T1-2


	NetD5_1
	Pins
	D5-1
	R20-1


	NetD6_1
	Pins
	D6-1
	T1-5


	NetD6_3
	Pins
	D6-3
	T1-7


	NetD7_1
	Pins
	D7-1
	T1-10


	NetD7_3
	Pins
	D7-3
	T1-12


	NetJ1_1
	Pins
	J1-1
	R24-1


	NetL1_1
	Pins
	L1-1
	L1-2
	L1-3
	TP4-1


	NetL1_4
	Pins
	L1-4
	L1-5
	L1-6
	T1-16


	NetL1_7
	Pins
	L1-7


	NetL1_8
	Pins
	L1-8


	NetL1_9
	Pins
	L1-9


	NetL1_10
	Pins
	L1-10


	NetL1_11
	Pins
	L1-11


	NetL1_12
	Pins
	L1-12


	NetQ1_1
	Pins
	Q1-1
	R8-2
	R10-2


	NetQ2_1
	Pins
	Q2-1
	R9-2
	R11-2


	NetQ3_2
	Pins
	Q3-2
	R18-1
	R19-2


	NetQ4_1
	Pins
	Q4-1
	R21-1
	U2-4


	NetR1_2
	Pins
	R1-2
	R3-1


	NetR3_2
	Pins
	R3-2
	R4-1


	NetR4_2
	Pins
	R4-2
	U1-1


	NetR7_1
	Pins
	R7-1
	R12-2


	NetR12_1
	Pins
	R12-1
	R13-2


	NetR13_1
	Pins
	R13-1
	R14-2


	NetR24_2
	Pins
	R24-2
	U2-1


	NetR25_2
	Pins
	R25-2
	R26-2
	U3-1


	NetR43_2
	Pins
	R43-2
	U3-3


	NetT1_8
	Pins
	T1-8


	NetT1_9
	Pins
	T1-9


	NetTP6_1
	Pins
	TP6-1


	PGND
	Pins
	C3-1
	C4-2
	C5-2
	C6-2
	C7-1
	C8-1
	C9-2
	C10-1
	C11-2
	C12-1
	C13-2
	C16-1
	C17-2
	C18-1
	C19-2
	C20-1
	C21-2
	C51-2
	C52-2
	C100-2
	D102-2
	Q2-3
	Q3-3
	R2-1
	R5-1
	R11-1
	R16-1
	R19-1
	R23-2
	R43-1
	T1-15
	TP5-1
	U1-11
	U2-3


	SGND
	Pins
	C21-1
	C25-2
	C26-2
	C27-1
	C28-2
	C29-2
	C32-2
	C33-2
	C34-2
	C35-1
	C49-2
	D100-2
	J1-2
	J2-2
	J3-1
	R29-1
	T1-6
	T1-11
	TP7-1
	U2-2
	U4-3


	VCC_Primary
	Pins
	C18-2
	Q4-3

	Ports
	VCC_Primary


	VCR
	Pins
	C1-2
	C2-2
	C15-1
	C16-2
	TP1-1
	TP3-1

	Ports
	VCR
	VCR



	Ports
	+15V
	+15V
	+15V
	+390V
	+390V
	19V
	19V
	19V
	56V
	56V
	AC-1
	AC-2
	BW
	BW
	HO
	HO
	HS
	HS
	LO
	LO
	VCC_Primary
	VCR
	VCR




